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Q1.

2x
] Diagram NOT
E 5, € ~ 2, accurately drawn
u 2 -
[ g 8 = (2x+3)(2=)
'I - i = G xt + 6
- | = C = (Sx-2)(x+3)

>
-

Tx -2
S Cxt-2x+ISx -6

= St 4+ 13x -6

All the measurements in the diagram are in centimetres.

The area of the shape is A cm?.
A&‘)Jl'nt') «j{v €4

Find a formula for A in terms of x.
You must write your formula as simply as possible.

(Total for question = 4 marks)

D awn 2L

M&/{L,) > A4 S‘
WE; k)—ejaa 2 L

Dan, Harry and Regan sell cars.
Tetul cars sold
Dan sells x cars.
Harry sells 5 more cars than Dan. > X+ X+ +2x T 4x +§
Regan sells twice as many cars as Dan.

Write an expression, in terms of x, for the mean number of cars Dan, Harry and Regan sell.

..................

M(C\n — T—c‘t-c\l o 41*’5— ....................... 3
3 3

(Total for question = 2 marks)

Q3.

The diagram shows shape A.



All the measurements are in centimetres.

x¥2

" . = (= +‘f)(>q—?_)
>
x+ 1 B " 2 ,
T Xt X o+ 2+ 2
-shape-A— 2 ,
. -
T x4+ Sx 42
. .
ul O
2x+2 :
Diagram NOT accurately drawn

(a) Find an expression in terms of xfor the area, in cm?, of shape A.
You must simplify your answer. .
= ( 2x+2)

= 2=t +2x

Shape Bis a rectangle.
Shape Bhas the same area as shape A.
Shape Bhas a length of (3x+ 2) centimetres.

(b) Find an expression in terms of x for the width, in centimetres, of shape B.

2
<3x+2),< wideh = ST+ Sx 42

3r(2+§1 + 2 AUDATRE . . S A
(1)

- <3:( »+'Z._X1 + | )

(Total for Question is 5 marks)

Q4.
Gemma has the same number of sweets as Betty.

Gemma gives 24 of her sweets to Betty.



Betty now has 5 times as many sweets as Gemma.

Work out the total number of sweets that Gemma and Betty have.

Let Gumma have X TRl
5o 8‘,,(-{-'_3 has 2.

i £
Gem Ee ) (Total for question = 4 marks)
X —24& X 424

x = 44 _ »
x +24 = S(x-24) = T I
X 424 = Sx — |20 Bs€EL G Comme cud Qolh

3

24426 = ¥ x—7
Q5. 144 = 4-x

The diagram shows a trapezium.

Sheb Wik 3¢ et
so T2 sweek i, o Co

23, B
p
> c
22X 4+ 4
Diagram NOT accurately drawn
AD = x cm. K + 22 4+ A 2x+4 = 37T

BC is the same length as AD.

AB is twice the length of AD. 6x + 4 = 3¢

DC is 4 cm longer than AB. bx = 1L —u
The perimeter of the trapezium is 38 cm. Cx = 34
x = SE&

Work out the length of AD.

(Total for Question is 4 marks)

Q6.

ABC is a triangle.



Diagram NOT
accurately drawn

)SoSceles & So

3‘)& - S- — ,CI bl &
3A +x T I8 +§C
qrx = 24
" 2x X = 24
A
Angle ABC = angle BCA. :
x — b

The length of side AB is (3x — 5) cm.

The length of side AC is (19 — x) cm. Pertmeber = 3a-§ +/9-2+22

= f
The length of side BC is 2x cm. e
Laue C)A 14
Work out the perimeter of the triangle. “* ( 4
= 24 4 ¢

Give your answer as a number of centimetres.

(Total for Question is 5 marks)

Sée(’l\ b'd
TLL;} 2>L
Vivika 21—3

Q7.

Stephanie is x years old.
Tobi is twice as old as Stephanie.

Ulrika is 3 years younger than Tobi. 5—_‘_ - X A 2N £ 2% ~U =2
The sum of all their ages is 52 years. S x - 3= S
(a) Show that 5x — 3 = 52
S_J' = 5 Y

(b) Work out the value of x. -

x = S8 l ‘

’_Sf X=......%5% .
o = I (2)

(Total for Question is 5 marks)



Q8.

Asha and Lucy are selling pencils in a school shop.

They sell boxes of pencils and single pencils.

Asha sells 7 boxes of pencils and 22 single pencils.

Lucy sells 5 boxes of pencils and 2 single pencils.
Asha sells twice as many pencils as Lucy.

Work out how many pencils there are in a box.

Q9.

Dan has some marbles.

Ellie has twice as many marbles as Dan.
Frank has 15 marbles.

Dan, Ellie and Frank have a total of 63 marbles.

How many marbles does Dan have?

Q10.

The diagram shows a prism.

Le€ 4 507\ Lo/:('&w\ pran
t’,;.1.;¢'(§

ASL"‘% Tx +22
Luc,j S o + 7

TIx +22 = 2 $x 42)

Tx +272 = I6x + 4

22~4& = 16x — TIx
.......... ‘2-“3.(
Lz - =z
3
(Total for question = 4 marks)
" A

" f?&.ﬂu\‘\ in ¢ box

Lebt Dean have x

Ellk 2=
Ff’c&.m"( '\‘
X 4+ 2x +1§ = &%
S 4y = &7
S = &3 — 1§
3 x = 4K
X = ig
S
x = e
[ &

(Total for Question is 3 marks)



Diagram NOT
X sy accurately drawn

x+2

u;j

l( ﬁ Volume = Area P cvoiS—-seckion X Le.».j“'\
/'

L
: /x-!- 1

W ] e

All measurements are in centimetres.
All corners are right angles.

Find an expression, in terms of x, for the volume, in cm?, of the prism.
You must show your working.

Give your answer in its simplest form.

F\m(/Q area a‘C Cfbsj"-Scc,é‘.'e..\

R = 2~ xx = 2 1-,7" (Total for question = 4 marks)

B = 2x xx = 2"

He:SLl‘: o€ C = X+ 2 — 2

i

Se

1)

(2-x)(ax-1)

67‘_ —-4—38‘—2 + X

l

= Qo —4x" -2

) CbeS — SLLL\oL\ &req

= 2af w2atH Anranta 2

= e g

Velome = (G]x ’Z>(LX+'>
:/ﬂ11—21+5\1’1
= ﬁ)cl“l"—]x-fl



